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102,

103.

YR & T 919 e § 2

(2 fawg i \(j( Differentiation

(3) TEE e'la ghh. 3) . Integration
pu{v I w w/

(4) 7 =T ST a) Job Rotation

AT AN ST Sora 33T =7t 7 st
aﬁf‘ﬂqﬁnﬁwﬁmﬁﬂmqﬂm%m
fopan s &2 |

(1) wftesm =t wera #1 feafy

(2) U= *T %o Yo &

(3) mﬁaﬁﬁﬁmﬁm

101.  Which of me{followmg refers to the proc

| ' ¢ '
Wﬁﬁwwmﬂaﬁﬂa%w

TS H STemT- ster faT SIS fafirs

wherein various tasks and activities
assigned to different departments a
people in the Brganization 7

(1)  Job Description

102. The interest coverage ratio or the timu

interes_t earned is used to test the :

(1) Firm's liquidity position
,‘{ Firm’s debt serificing capacity

(3)  Firm's debt repaying capacity

4) 11 of the above

L

uftadeier 3uftera st wefas o % A2 103. Prime cost‘pjus variable overhead is knowr

(4) 3w gt

F1 {8 &9 F S e &2

(1) S amm
HrHT T
ot o o

as :

W Production cost

L9ﬁ_ﬁal cost
Marginal cost

(4) Cost of sales

AC
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104, Frefefad § & SH-91 HoF Ted & 2

(1)  S¥efe s s ATl s SeER ael el
& e Sy e wE oiR ShfEE
%9 | 9gd AU I T § SN -
3T TS H AU SR I Ll

2) i i ST T §
SR Befl B | "
(3) @Ee TS 1 SEer THi 9 H 30

21 & T IqTER w1 e w9 gl
s

Afaea wig-sreaer T fefd
 yefifa e & s/a SveRT i wiaw
1 2t & R I STe-aTem wie d
¥ga aiferer = fewamg <A ©

4

105. T wiF SO w1 gads frafarad § 9
g fore Saeert ¥E 8 ?
(1) feER H FHE HA
) wieerw # feafed faudi w1 sgme

(3) wferere § wfaa fawei @1 -

b

it sxfrer eriemedi st gfte % fom ot
TR SHEEE Y fRan o

106. mmﬁﬁﬂmm@mﬂmm%
maﬁﬁmﬁmﬁrﬁaﬁﬁﬂmﬁmﬁﬁ
aﬁﬁﬂ?ﬁ%7

1Y B AT T

(4) tpﬁzﬁm

104. Which-one is false statement ?

Y Dissonance - reducing buying
behaviour occurs when consumers
are highly involved with an
expensive or risky purchase and see
significant difference among brands.

(2) The buying process starts with need
recognition.

(3) Habitual buying behaviour occurs
under conditions of low consumer
involvement.

(4) Consumers undertake variety
seeking buying behaviour in
situations characterized by low

consumer involvement but
significant perceived brand
differences.
105. Promoter of a Joint Stock Company shall
E—— \ 1
not be liable for :

(1) Misstatement in the Prospectus
(2) Compliance of matters to be stated in
the Prospectus _ ' :

(3) Non-compliance of matters to be
1

tated in the Prospectus
(Q/Cémmencement of business by the
company without confirming to
capital subscription requirements

106. When debentures are redeemed out of
profits, an equal amount is to be transferred
to: .
(1) Profit and Loss appropriation

unt
» Debenture redemption resew&% -

(3) General Reserve
(4) Capital reserve

P/Page 3
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107. ﬁw%ﬁgaffﬁﬁ?—mmu@%?

1) U@uu@ﬁmmmwaﬁtm
@u‘a‘rua%ﬁuﬁ%@émﬁﬁwww
T € |

@) %@ﬁ%ﬁaﬁqﬁmwmm
g =1 7 1 grrr uey &

3) ﬁﬂqﬁﬁﬂwq@fmﬂw
¥ S wel, =ty syeren FREwET

BEIESRA

\yaqquﬁ F1 GIATHF TEeF frdh
afuqﬁrm#mmﬁézmm
BT )

108, ﬁdm‘}mﬁ%eﬂmwaﬁﬁm%
H‘Eﬁﬁﬁwﬁwﬁgaﬁﬁﬁa—mawqw%?
(1) 399 F=m STRIET Tagw e §

Mﬁw%wwwm
1 AT o et ¥ :

(3) ST HT AN R F et fe i &

(4) T=F FEEn-sHE % g¥y 0
HEHERTHF JHS T2al & |

109. mmﬁww@aﬁﬁmgﬁww
B &2

(1) -3 =1 fefén % g

2 Tl wfafe =1 o1iftrs oy

107.  Which one is true ?
(T)/ National culture refers to primary
values and practices that characterize
a particular country. -

(2) Affective component of an attitude is
the opinion or belief segment of an
attitude.

(3)  Attitudes are favourable evaluative
statements concerning objects, people -
or events,

(4) - Cognitive component of an attitude
is the emotional or feeling segment
of an attitude.,

108. With reference to Pi_ege_wa@ system, which

of the following is correct ?
It makes the workers feel insecure.
1 . \ R

) Piece rates strengthen labour unions,
: / g Upn

(3) Less stress on the quantity of
productiox‘}.

(4) Affect the employer - emplovee
relations positively.

109//Which one of the following errors is
3 disclosed by Trial Balance ?

mission of the recording of a

" transaction

3) o yfe (3)  Compensating erroy
; e
@ fogr =t yfe (4)  Error of principle
P/Page 4 % &1d % o0 g / SPACE FOR ROUGH WORK

PKJ 17!7£




110. THG SR ATE 3: 1 % A H o AR B A
TR 3 a6l TEER § 1 3 SIS I WEER
% T § WHER F € 9 T 4,000 TEfEe IR
¥ w9 H IaH B T T A FH WK
2:1: 1%3435[;61&@11?1 Tefae F EE

qmﬁhaﬁaﬁm ?10003#{

3,000
@) FHEAEE

ot T 3 i o ferreon et
HferaTor o1 Wt HE F 2

111.

faftys =3
U 1 MREHE
At iR 3l TSR &1 S

@)
(b)
(©)

SRUTTS U] 1 T S ool GHR |
gfasd & |

BUTTS YRS T T S R YR |

gfaya & |

(), (b), (©), (@), (©)
(a), (0), (d), (), (©)
(), @), ©) (), ()
(@), (®), (e), (d), (©)

(d)

. (®)

(1)
@
©)
“)

110. X and Y are partners sharing profits and
losses in the ratio of 3 : 1. They admit Z as

a partner who pays ¥ 4,000 as his share of
goodwill. The new profit sharing will be

~ 2:1:1. The amount of goodwill will be

credited to :
(1) X and Y as ¥ 3,000 and ¥ 1,000
respectively

@/X only

(3) X and Y as ¥ 1,000 and X 3,000
respectively
(4) Yonly

111. In Liquidator’s Final Statement of Account,
what is the correct sequence of the
following disbursements ?

: %( Légal expenses

(b) Liquidators’ remuneration

(c) Preferential and overriding creditors’
dues

(d) Dues of debenture holders secured
with floating charge

(e) Dues of debenture holders secured
.with fixed charge

@ ), © (@@ ./\
@@@a) Gi

(3) (. (@), () e) )y

@ () @), @), @ ©

P/Page 5
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112.

113.

114.

ﬁmﬁﬁmﬁﬁaﬁa—@mm@aﬁﬁm
T E?

(1) Hifia =g

Q) T @

(3) stfavEa sifEw /@

@) T st

) iR @ frEr
@ fRewmfEm |

@) frEmwfamR

W) e R

ﬁﬂﬁfmﬁﬁﬁagﬁeﬁw%ﬁmw
‘{aﬁmaﬁﬂaﬂtmmaﬁﬂwﬁm
%fa?ﬁwaah%ﬁ'{ﬁmrsm%?

(1) e e
@ .@~@qﬁa«‘m

(@) e s ghesdm

(@) e e ST g

112. Which of the following is not a feature of
Sole Proprietorship ?

\%Irmted Liability

Single ownership

(3) Undi’vided‘ risk

.

(4) One man control

113. _I;lentify the odd one .out e

(1) Span of authority

G

~Span of direction

(3) Span of control 2
; B T e xff}%{-"ﬁ L
\}V Span of supervision =
; Arei ‘Iaé:r ¥

. ing to which appro
capitalisation rate and the ¢
remain constant for all degr :_»;”_'
leverage ? 4
(1) Traditional Approach
(2) M-M Approach 258

() Net Income Appro

ﬂo;)exa ing Ir

T e % f1g g / SPACE FOR ROUGH WO




115. I9raRTT HETT AfufTam, 1986 BT SqLrameii

115. Which of the following right is not

= Freafafea § @S- sifusr T8 e provided by the Consumer Protection Act,
T ? 1986 to the consumers ?
(1) = ot &1 Afersr (1) Right to be informed
9 e w sfER T ight to safety
() TR 1 SR \ﬁht to discipline
@) e framm & sl 4) Right to seek redressal
116. Frefafea & & wF-91 7o & 2 116. Which one is false ?
(1) et T & ufomreasy gyt A stability strategy may lead to
FH F ¥ 0 92 I o e offensive move by obtaining a patent
I3 S HHA T to reduce competition. .
) AT T TR H T (2)  One of the reasons for pursuing !
HRO1 T Wi § 5 aga sifus goorem stability strategy is the thinking that B
% FeraEd e § w3 et ¥ too much expansion can lead to |
inefficiencies.
() % W' ¥ fou wnfas it = (3)  Thestability strategy can be designed
Aoy Tar fan s g & “" to increase profits.
4) U oo Ol S S # e : (4)( Expansion strategy which fails to
sfer It s H H former @t § - make resources more productive is
" srfafaa W' ® “excess fat”.
117. Hewgel feafa & swanf fag 89 % foae feet | 117 Which of the following performance
FHAR FI G &HAT 1 qer o % ferg evaluation is very much useful for
Fafafes 9 9 Fi9-9 =0 foges I discovering the potential of employees who
e . g the po .
wga A I 2 can be useful in critical situation ?
(i) gfma ger (1)  Paired comparison
() wHe=l wEA ugfa Mcal incident method
() o fawes ugfa (3) Forced choice method
(@) fasita \me 3 &;’)7 (4)  Graphic rating scale
4 / !
P/Page7 PKJ 17-I/Com
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118.

oo - o : — _
freferfea § 9 s @@ 82 118. Which one is true ?
(1 v« afedi & enfa wda 7@ 8, 59 9% (1) When goodwill does not appear in
ST T Tl B, R T8 ol FEeri the books, goodwill is raised by
F1 Ted TY ST H S HH S crediting continuing partners in the
ST ST ¥ | gaining ratio unless agreed

2) e R Fi Yafrfa e g,
ofz dgFa e S snafia 3 %
e T et Bl € T hrE qHTdIe STufaa
& 2

(3) et G ot Frum sveen iferdt i
oftugaar 2F B | 9 off 9 H @, w
zen §, g Siaa s afgss 8 S
gl

@) = fweE TE @ % fag enfa s

B & < T HeWd od 9 v R A

fepelt TSR ) ST e § iR

1 Tt TIEER o Yoid @i § S @

ST |

1) 1949 -
) 1934
G) 1947
4) 1956

120. 7@ ¥ fora wtee/ fagra % oger fdt @

¥ e & o & for SOF g #1 dedt
anefireer w1 wfigaad TR % STET @

St =Rl § T § R gHet T % o |

®?
(1) - freer = sewfereRar fagr

(2) w=H @ An e fagr
(@) TR-=wS w1 feafaw Aied
(4) FE-FA SR S 1 AR A

119.

120.

erwise.
) Inthe event of retirement of a partner,

if the Joint Life Policy already appears
at its surrender value, no further
adjustment is required.

(3) Joint Life Policy becomes due in the
event of death of any of the partners
or on the maturity of policy,
whichever is later.

(4) Vhen goodwill appears at an amount
which is more than its agreed value,
the difference will be credited to all
partners’ capital accounts in the case
of retirement of a partner.

The RBI Act was enacted in which year ?

(1) 1949

1934
(@) 1947
4) 1956

According to which model/theory of
leadership a leader is supposed to match
his leadership style with the maturity level
of subordinates which moves in stages and
has a cycle ?
(1) Fiedler’s Contingency Theory
(2) House’s Path Goal Theory
Hersey - Blanchard Situational Model
(4) / Vroom -
Contingency Model

Vetton and Jago's

P/Page 8
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121. 5t 59, U= ST svoray T ST, St | 121, The time limit for filing a complaint before

ot feafy AT Tner e R vy * gy the District Forum, the State Commission
Hr or the National Commission, as the case
may be, is :

LW ufed 2 = TG & 1 A (1) 3 months from the date on which the
: cause of action arises

(2) M % ufeq o F A @ TF a9 (2)  One year from the date on which the
cause of action arises

(3) FH % ufed ER F e @ o HrE (3) 6 months from the date on which the
cause of action arises

(@) F % =fed & 3 e @ o o9 (t{ Two years from the date on which the

cause of action arises

ubw
122. <91 gRY Wiayfei =1 amﬂ aiis frfafga | 122, Buy back of s6cu Wade out &2

ﬁﬁ%ﬂﬁﬁﬁﬁ%ﬁ%’ ' bvacompanvoutofﬂ(’
1y zE= eSS : (1)  its free reserves I
VGF’I faffée wfryfed | wra s (2) the proceeds of other specified !
securities
3) Qﬁ“fd Hifermg @ (3 the securities premium account f
4) TF A IR wwE uw gue q= an earlier issue of the same kind of ”ﬂ
farfafde E‘ﬁf‘ﬂ%ﬁﬁ F1 S F faefgm shares or same kind of other specified
securities |

OLI-ZB. freferfas & & #9-o1 7o §? 123.  Which one is fals(’% )

(1) wrE-+ifs & T H 31ifam whymer (1)  Required return is a basic variable in

TF SAYRYT 91 € e evaluation of a credit policy. ;

(2 Hramr fafy Freeem e s ¥ 6rg ((;:asona] dating results in reduction

- ST T ¥ ' - In credit period during off - season. ;:-: {

B At fafer frveem @ R Y ¥ (3) Seasonal dating aims at avoiding it

TETETS &1 W 398 e & inventory carrying costs, N

@) 3fc gr@ w6l =5 ‘2710, 3= 309 | @y me Credit terms are changed from

-‘ '3/10, 92 30" & e W # 4 wrey 2/10, net 30’ to ‘3/10,'net 30', the

ATRRT F afre fee & =3 9% 5 average investments in accounts ﬂ !
HHTEAT @?ﬁ % ! receivable are likely to decrease.

|
|
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124. ‘‘=reTU U faeg oT@ a% wituea e gq fae’

i et ol & anfefw fag ® form ofid &
ST SR S ?

(1) = ST

() RS TfE

(3 = snfeat

@) eTafeEnfyd =4

125. omE faavol | e TifgeE &% aR § AR
G T 1 9 g e H § 2

(1) TR A TR
(2) WHA H AU
(3) Elgams @i gdl

@) TS F Gl

126. TrefeafEa & € SA-T @A € 2

(1) & safer fomen w1 & o & e7oq v
- & Prifim w@ € % e’ #
oW f T 7

(2) T S SR FH T Tefer R
& & A o ARG | eTdeEd A
" €

(3) & =afe foment A § o SR Sftem
.o FRE § Frfa @ @ g SR
“uergeed’ ! wE T R

(4) TG, S ERE W e R
Y 9 e T wEd ¥ %4
Frgafeer @d € |

124. Under which heading the item, ‘Bills
Discounted but not vet matured” will be
shown in the Balance Sheet of a
Company ?

(1) rent Liability
Contingent Liabilities
(3) Current Assets

(4) Unamortized Expenditure

125. The prattice of appending notes regarding
contingent liabilities in accounting

statements is in pursuant to :
(1) Money measurement concept
Convention of disc;losure‘A
@/ Convention of conservatism

(4) Convention of consistency

126. Which one is false ?

(1) Persons who believe they control
their destinies, have been labeled

‘internals’.

(2) Generally, who rate high in
externality are less satisfied with their
jobs.

(3)  Persons who see their lives as being
controlled by outside, forces have
been called ‘externals’.

%neraﬂy, ihdividuals who rate high
in externality have lower absenteeism

rates.

P/Page 10
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R PRI I vty = e L

S e o o

127. 39+ a1 sifufram, 1986 % SR
Frefofea § @ FF-< T = §2

(1) S | Heifea gaened w1 wEam

242 Saferrar T wferen & siaia fad
ST T YT

3) Treme & waifera giaensii 1 waum

(4) THMER ¥ wEuE 9 wetid glaeei m
EICLIE]

128. SEIF 3raf H wrET ¥

(1) 95 HUiE I FHeEE THIE F AR
R foira ferawor R =27 =1 gzm fen
ST ], 9 € O 5 Y o

F1quf & |

(2) 39 dem § defvm § o wafys w1 @
fordita foraeeft foam ¢4 @ 9o wmmies
wfafteal sreee st =nfew )

(3) & Tl yEEEEE W [ @ o
sHafai w1 Hiferes snenfia fasig faago
TR T 1 gIrE a1

4) Tordlt Sy STm % Hifga sy q=
s o w9 waifum £

127.  According to the Consumer Protection Act,
_1989,_ which one is not a ‘Service’ ?
(1)  Provision of facilities in connection
with banking.

2) Provision of any service under a
contract of personal service.

(3)  Provision of facilities in connection
with lodging.

(4)  Provision of facilities in connection
with the purveying of news,

128. Accounting Period Postulate :

<I/Suggest the companies to prepare
financial statements on the basis of a
systematic time interval, eventhough
the operating cycle(s) of the entity

may be i plete.

fers to the fact that adjusting
entries must be made before financial
statements are prepared periodically.

(3) Suggest companies to prepare
financial statements on a periodic
basis, when all operating cycles are

complete.

(4)  Refers to the limited life of a joint
venture.

P/Page 11
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129. frfafes & #9-w wé €2
(1)  H= SFTd i i e H STae

AN T@iH H 2ih F qedihd 3o
e W Bl €

() Towa gea 9 gfg 9 oy wifsH § =+
YuTe & T2 |

(3) HHE AT orEiR § 3T - et e

: IAME EANTd 1 TF 91 ot £

(4) EMY-TET SR @Y iR fa & Wy
ey g9l €

130, frefafes 3 @ FH-91 T W 2
(1) v foee o g fagem &1 e
o fa=o & e g B

) ﬁmﬁwﬁﬁaﬁ@ﬁmﬁwé
o, sateTEt '

(3) e farsm e e oo & ferg
TR e ST 8T |

(4) T faeem ® STEe = S § afe
U ANTd arafass arTd 9 STy &)

131. fr=fafed & § #H-1 e &2
(1) SEEEH gd § 9gd W 31— 37 e

129. Which.ogte is true ?
he valuation of stock is at a higher

price in absorption costing as
compared to marginal costing.

(2) Increase in selling, price will have no
effect on margin of safety.

(3) Semi-variable costs form a part of
product cost in margi;{él costing.

(4)  Profit - volame ratio indicates the
relationshép between pE)_ﬁt and sales.

130. Which one is false ?
(1)  The total of capacity variance and
efficiency variance is equal to volume

~variance,
The selling department is responsible

)

for factory overhead volume
variance. g
(3)  The purchase department should be
- held responsible for material price
variance.
(4) cost variance is said tQ be

favourable if the standard. cost is
more than the actual cost. :

131. Which one is false ?
(1) Database consolidates data records

FEdl § RR &I TE 3T e # formerly stored in many separate
e fopan s ¥ data files.

(2) TETEH F IYAN $6 SN w3 & fo (2)~ Database can be used by any person
sferehr T fepedt safer g foran S wapan having the right to use it.
g

(3) erE" fafys vt & o ame Mtabase is not a common data
STeT 9T LA 1 B TE ¥ | source to various users. :

4) =eEE W e sy Tfia (4) Database is controlled by a separate
foreft guss wiferartor grY foran e & | authority established for the purpose.

P/Page 12 T @rd % foTg g / SPACE FOR ROUGH WORK PKJ 17-1/Com




132. ﬁwﬁmﬁﬁmm%"mﬁww"
TSR 1 e Serea faqom & qrofe
SieshIvr & W whtaw 9 5w far 2
(1) THE T
2 &&=
(3) frfeg seer
4) Frere

133, mmmﬁmﬁiﬁaﬁﬁwm 133.

BT &2
(1) Tt fEfmf

(2 T
()  SEEE-fami

4) foHz SERe

134, %ﬁw,ﬁwfmaﬂtw@muzﬁqmﬂﬁ
W forgs am #2

132. Which of the following authors tried to
integrate the modern concept of
"an_s_qmerron'_gn_tned” market with the
traditional view of marketing ?

(1) F.E.Clark
(2 arry Hansen
Philip Kotlar

(4) Copeland

Job costing is used in :

(1) Chemical manufacturing

(2 Brick- making

(a)/smp -building T

'
4) ement production o

134. Horizontal, Vertical and Random cliques

are parts of :

(1) (1)  Core groups
@ W groups
(3) ; ) Informal groups
“4) (4)  Closed groups
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135. ﬁa@wﬁaﬁmmaﬁmﬁﬂtﬁ
21,02000 1 WA & 2 @ A
?15,oooanaisuaﬁﬁmafn?6,oooﬁﬁmﬁ
1 afz whem % ww 9w T faw H
713,000 & IS @ o, IRY H @ @
aa fare ot ? j

(@) 80,000
@) 93,000
(3) 96,000

@) ¥ 89,000

@) 200

137. et 3 @ SR-T YA FE & 9EH
%2 !

(1) o 1 wEEa
(2)' FEAfoE Hediw
(3) wferor iR o

(4) HEEN HEH

135. The ending balance of owner’s equity is
% 1,02,000. During the year the owner
contributed ¥ 15,000 and withdrew
% 6,000. If the firm had a net income of
Z 13,000 for the year, what was the

beginning owner’s equity ?

y % 80,000
2) 93,000 _
Ll =39,
(3) ¥ 96,000 ot :
REY-4)°
¥ = )]

\@/ 89,000

136. A private limited company can have

maximum members as per the

provisions of the Companies Act, 2013.
]
@ 20 10 N %0

2) 100 \@

b
137. Which of the following is a component in
the function of direction ?
Supervisiné the subordinates
(2) Performance appraisal

(3) Training and development

(4) Problem solving
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fore waifir it & 2
(1) = E IS For et

Q) R smEfed fb W ¥ e =
A9

B)  STeFT-3Te wfEomei & foau safy

sz
Hé}-qw e s

139. TF.Z=7, oW & srEw, ot it

' mmwmmwﬁwwvﬁ
Wﬁsﬂ%ma—mqmﬂamﬁﬁﬂﬁm
& g T fouR & ‘St vey % feg
ST 1 are firerar 2

1) 51 7 5 wgarrg fag ,
(2) =& 7 fir =firgra
®3)

@) A% =mfw w1 sgw e

FTEHIE 3R wuhy T Rrerg

140. IR e fe 3

§?
(1)
@)
®)
“)

feFes o % s By

138. syfer w9 o fag ey frefafeas § g

138. In modern timés,
concerned with :

a finance manager is not

(1)  the total amount of capital employed
2

the measurement of results of each
allocation of funds

(3)  the allocation of funds to different

projects
(%rate record keeping

139. According to F.W. Taylor, “Prosperity for
the employer cannot exist for a long time
unless it is accompanied by Pprosperity for
the employees.” Which of the ‘Scientific
Management’ principles supports this

view ?
(1)  Science, not rule of thumb
(2) Cooperation, not individualism

( Harmony, not discord

4) Development of each and every
person to his/her greatest efficiency
and prosperity

140. Conversion cost is equal to total of

(1)  material cost and direct wages

V)/dir’ect wages and factory overhead
_‘(ﬁ/ﬁaterial cost and indirect wages

)

material cost and factory overhead
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141. Frefefaa § § -9 He T €2

1) sy § awRr gr fafeea & 9fer |

¥ forn grfes gfie § STErEl TaRr
= < =T | :

(2) Wi i (JreereR))  sHfiEd
¥ oin wrEEm § e folg & Fed
w14 Tty 9fg FE T 7ol § e
T S 1 AT ¢ |

@) Hrefee ST | SHaEtadl gr A
e 1 e # o fere S wHS
=i ¥ ged # aigAE ¥ e @
fefea areafaa g1

(4) e T S A Fe s
=1 =fe TR GHENE & i o ey
I foFan s A e Seras
Teqdsl % STER wgd O qEenst
1 SR T H EEe foa ST Hsa e |

142, o sifugfa o WEATEeS SAUET HETHS T8
=1 Frefefag § & frwen wm & g2
(1) wTETHe S
() FAHHS HEH
() THAIENTRE T
(4) TS ST

143, d@EiFEA Tgfa & H9y # LT

=51 S forelt sEm A A€ |
S zad feseR o & 9gd ¥ oSy
IR T @ B
(1) TEY
(2) ST
(3) RIS
(@) fosrey

M
ich one is false ?
(1)  Business should engage in socially

responsible behaviour to avoid
Gulation by government.

Managers are the agents of owners
(Shareholders) and their decisions in
business need to be governed only by
the desire to maximise profits.~

(3) Social responsibility refers to the
obligations of businessmen to pursue
those policies which are desirable in
terms of the objectives of the society.

(4) If the innovative ability of business
can be turned to meet social
problems, many problems could be
handled profitably according to
traditional business concepts.

142. The emotional or feeling segment of an
attitude is known as :

) > Affective component
_ }&Cognitive component
(3) Behavioural component

(4) Cognitive dissonance

143. In relation to ‘Accounting System’ using
DBMS are the foundations of
any application and allow the designer to
create a set of programming instructions.

(1) CCESS
Modules

(3) ., Macros
Wizards
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145. Afm g,
(1)‘?%1%
2 <rfafir g
() T T
() STH F § 9

146. mﬁa?ﬁrﬁwq,zms%mmmﬁm
mﬁ%ﬁﬁwﬁzﬁu@maﬁﬁ%ﬁzw
mﬁw&ﬁmﬁmmm%?

144. Which of the following is a Cause of
Business Risk ?

(1)  Natural Calamities
(2) Change in Technology

(3)  Negligence of employees

4) ~All of the above

145, Calls in advance is 3 :

Mrent liability

(2) Longterm liability
(3)  Contingent liabilityd*

(4)  None of the above

146.” As per ‘The Companies Act, 2013, the
whole process of formation of a public

‘% company can be broadly divided into
S a; ; stages. ;

‘@ s

@ 5 @ Uﬂ‘;
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147.

&/ 148.

s T e fafies g/ T 5,00,000 ®
AT | 1 31, 2015 FI GG T SR THE
10 a9 &1 AT STANTAT AFFL HEAIaq
I TS R THHT AW T T 50,000 B H
STTHM T T | Ff I Ted g I SH
TEfa | 20 whov # R § eams guia
YA & A TR Y 31 AT, 2017 1 oI H1

- guifid = SeTe e g

(1) 72,000
(2) %90,000
(3) 80,000

(4)  ¥1,00,000

frfafes & & F9-w @ €2

TYE 9 HeT & MR aiea_ste
At qioT SeTE @

(1)

Hro=fies g Hae HHM TE & Tl
gl

@
(3) . T YFR F HreHl § THE TR B |

o=l THE Hael 1 THE & Tehdl
?l

)

147.

148.

A machinery was purchased and installed
on 1t April, 2015 by X Ltd. costing
¥ 5,00,000 with projected useful life of
10 years and estimated salvage value of
T 50,000. If the company charges
depreciation @ 20% by diminishing balance
method, amount of depreciation to be
charged in 2" year, i.e., on 315t March, 2017
shall be :

(1) 72,000

) 90,000

% 000

Which one is true ?

%/Groups can cause either desirable or
undesirable consequences within the

organization.

(20 A formal group can be only a
command group.
(3) Groups do not exist in all kinds of

organizations.

(4\)//forma1 group can be only a task
4 group.

pidss P/Page 18
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149. Frefafes o m wdr £

(1) foig f5rm = st o s et s
S5 o BT TWHH 24 § S Sedt fewn
& B ¥, EOQ 1 faufror wad ¥

(2) STHAR W AT G Y sty v med
I e F $ qou F 0 98 9qm
mmﬁwﬁ%n/ﬁ

©) PR S e it . /@) ‘

qorn | q\ﬁr‘wwwm
BT T |
(4) T oo sifyes i ween @,
A e H T2 T T g e |
(00 000 Qv b0 O :

%L
150. Frfafad & & #H-m Far Tem

(1) H9R ¥ stfarda: sid =1 9o a9
@ SHH! 99E B =R

Q) TS FA Ft U F ¥9F 5 guR
% ! 1 ST e ¥

‘/)/ HOR @ forelt Te =1 W F s =R
T e g 2 E : foregs, s,
ureTee stfveafa sie g

@) e 7E e € e de dare 5
RIE R

149. Which one is true ?

The point at which the slopes .
ordering costs and carrying costs
curves are equal but of opposite
direction, determines the EOQ.

(2)  Generally a large number of items of
inventory claim a large proportion of
total value of all inventories.

Inventory in relation to total working
capital has similar proportions over
a business cycle.

(4)  Larger the safety stocks a firm keeps,

greater is its scope for speculahon on

inventory.

150. Which one of the following is false ?

(1) Communication must include both
the  transference and the
understanding of meaning,

(Z{ncoding is retranslating a sender’s

communication message.

(3) 'Communication serves four major
functions within a group or
organization : control, motivation,
emotional  expression, = and

information. v

(4)  The channel is the medium through
which the message travels.

L
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151. frafafea 8 &9 0F 9@ 82
(1) wih-g-g8 Fi wis ffy 1 39Fm g

() i i ffi s
Tl ;

@) T v favero sremm s@fy it 55
fafy =1 sgeram =t feafa <om 81

@) IuR fosht FriEia st & s €|

152. Heare § A T TR AN

faurta srg=Al &1 qT FI WAST HI
SHrd-vreran § stfvefig T 3 WA fohan s
gl |

(1) o=
@) s
@) afes
4) fo=rol

153. frefafas ¥ @ F9-91 T T 99 € 2
(1) T wfersem o et et st gaeht
Faum oTfeadl &7 g W ¥ fwem
T Srefafies v=afs gr o s
14
@) e = age Fi sty H gfg e |

rvier st A1 SAErEhal FH @ S

7

(3) wETeR = W erafy e S 8,
- gprdvie St S ufe o 3o & efue
Gl

(4) HETERITG S % THA F S HE
it T IR TG |

151. Which one is true ?
(1) Purchase of stock-in-trade is an
application of fund.
(2) Amortisation of preliminary
expenses is a use of funds.
(3) Funds flow analysis shows the
position of business as on the closing

ate of business period

Credit sales increases the workihg
————
capital.)

3

192, communication attempts tc

increase the organisational efficiency by
speeding up information and cutting acros:
departmental barriers.

WN on-verbal
(2) Lateral
(3) orizont:

Diagonal

- & |
153. Which one is a fd@tﬂéﬁ?/

(1) Net working capital of a firm is tha
~~ portion of its current assets which i

financed by long term funds

An increase in average debt
collection period lowers th
requirements of working capital
/@ Longer the duration of operatin
' cycle, larger is the amount of workin
capital requirements
(4)/ Working"® capital requirement
increase during the period ¢
increasing inflation.
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154. fefafea d @ FF s @ &2

(1) &0 erer o feagra SiR debetien & =pmam |

w@mﬁaﬂzmmm
fean o Sefr s, Tew H
ﬁm@ﬁﬁwwmm%
ﬁmyxwmﬁa%

(2) R i TR TeRa st fafire
g safe TR & fagr sfus sm=
Yefa % 3R et §1

@) TR & fagm wft vwEie a5 §
a1fyes wrfiT € wiefs e % fag=
AR THIF Foae IAET FEFAT F
Hey ¥ wrEfe £

Vyﬁn%ﬁm’a 3R T § HuRE
F1 FEFIE W A e e T
SreIfe S & fagr yeus g W
FHiza €1

Y

155. T AIAE 1 T, S =re] grEEtaat
.= % 20,000, =% = ¥ 3,000, T =
= 1,000 3R Freie ISt = T 16,800 &2

154. Which of the following statements is
correct ?

(I) Henri Fayol’s principles and
techniques were suggested with
bottom upward approach whereas
FW Taylor’s principles are based on
top downward approach.

(2)  Fayol’s techniques are more specific
whereas Taylor’s principles are more
general in nature and are flexible.

(3) Taylor’s principles have wider
relevance in all functional areas
whereas Fayol’s principles and
techniques are relevant mainly with
respect to production activities.

Taylor’s principles and techniques
are focused on workers’ efficiency
while Fayol's principles are focused
on managerial efficiency.

155. What s liquid ratio when Current As As

96:2 000, Stock =2 3 ,000, Prepald Expenses
1,000 and working capital = 16,8003

1,5 b o3 go a”
@ 2 " 2 Lol 6 G
G 4 (3) 4
@ 3 @ 3
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156. fre=fofaa & @ A& &2

1)

)

157.

Hefg T U YR 1 fauereTss anmd
T : '

ST T a1 S0 H ST ST STl
HAT B

Yftadsital =mTa Ui gerE, Samed i
T % STIER Seerd! Tl € |

i T Weged | AT 3R geTa
ST AT T F AT B ¥

F orEn Frefafes 3§ | FH-5 qeumon w@t
T e? !

M)

e T a1 & wfEE €9 9
@ g € 99 fF omm = e

sirea safa e de g & @i
&l aF T e w1 off | T g
?i ‘

wa Ft off Gva g e e
fader =1 | |

atfiee favia 33 &t sifydraa s
w9 H sege § el g €

156.

@

D7

Which one is true ?

Incremental cost is a type «
differential cost.

Opportunity cost helps

ascertainment of cost.

Variable cost per unit fluctuates wi

the volume of production.

Conversion cost is the sum total
direct material cost and direct wag

cost.

According to theory “Y”, labeled 1

Douglas McGregor, which assumption

not correct ?

1)

(2)

)

(4)

Employees can view work as bei
as natural as rest or play.

The average person can learn
accept, even seek, responsibility.

Employees will seek formal directi

whenever possible.

The ability to make innovati
decisions is widely dispers:
throughout the population.
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158. fr=Afefaa & & $H-91 FHU- W& 82

(1)

@

®)

)

TSR o1 a9 UH o[ | ¥ 5@l

iR fagpar st aegedi % fafma & |

fere wenfaa 2 €1

foauE & S w1 eg [ H GErd
ExciR gl

ST faredt seare 21 a3 Ot STt
AR FureT st R T

sAfyerier yfase™ fasra @1 Heheq i

3G 9T FAERE § TN & WE S
T & 6 STe © T e

159. Frefafed §  SA-W AR €2

1)

(2)

3)

@

ST fFt s i g i & fag
gt st oI sTafaa froste &1 st
gl

FT-HAIT THhATE W YhH- 3T
it =& ® 1

HTE- ST qHAIH B TATHF ST
nfeet & ¥

TER 9 g iR st ye %
IS i gahTeld o 9 |

158. Which one is a true statement ?

(1) Market stands for the place where
buyers and sellers gather to exchange
their goods.

Demarketing aims at destroying

2

demand.

( A market is the set of all actual and
potential buyers of a product or
service.

Most firms practice the selling

“)

concept when they have used full
capacity.

159. Which one is true ?

)  Efficiency is the ratio of effective
output to the input required to

achieve it.

Work-study techniques do not

@)
© include fatigue study.

Work-study techniques do not
include motion study.

®)

Taylor advocated mix of planning
and execution functions.

)
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160. ﬁqﬁr@aﬁ@ﬁ?—mﬁaﬁaﬁﬁvﬁﬁ@ﬁa
T TE & ?

(1) et s ufl wher wo
() W21 3R % for srgeivh Srafiri @ e

(3) YA BT ST S 5 ey
'(4) aﬁwwmﬁ%ma@*ﬁw
T T
2
161. =AEEIRYE e yorrett

(1) maﬂtﬁmmwﬁhﬁ%a

@) wmaﬁaﬁ@wmﬁhﬁﬂﬁ

1
(3)  forea e o <ifir & Q)
@) S5FF § o

162, wmwﬁgﬁmmmﬁwﬁ#@aﬁ
¥ ST &7

160. Which of the following is not a non-funde:
business of Banks ?

(l)/ Accepting Recurring deposits

(2 etting up subsidiary companies to
do leasing

(3)  Setting up mutual fund subsidiaries

4) Setting up subsidiary to do insurance
business >

161. The Business information systems are :

(1)  Restricted to production and sales
systems

A%of restricted to any particular
' functional area

(3)  Restricted to finance function

(4)  None of the above

162. Which of the following is a Prominent Joint
Sector Enterprise in India ?

(1) foremen fReed (1)  Visakha Refineries
2 =i Remad (C;chm Refineries
) ﬁr*rrem ey (3)_~Reliance Refineries
(4) SR H QB (4)  None of the above
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163. HRRR-HTS 1 fordroar i & .

(1) srafees wgwmE

@ i oo

(3) AN % RN R sy
@ T

164. FrAfafeaa YIS STeiferd & 2

(1) tE wfrew foed w0 w1 3wEn e
mmﬁﬁﬁﬁﬁﬁﬁam%
o fora sman &

(2) U yfrsm fawd wor ok ehaet oA
1 ST ST aREaf  faedifa
F & o fopan s &

(3) T wfam foed frht s @1 sqam
T foFn s ® iR gofa: wwan S @
THen il 1 famd e s
(

4) S9gw A FE T

165. e ST 4.5: 1 § TR qern ST 3 : 1 ¥
I % 3,00,000 ¥, =16 rand o & 2

1) %2,50,000
@) %2,75,000
(3) %2,00,000
@) %1,75,000

163. Which of the following is not a feature of a
parmersl'up organizatio

Utmost good faith

Limited liability

(3) Restriction on transfer of ﬁi@fi@é‘g(‘ ) ¢

AR TR s

(4) Implied agency

164. Which of the following is an unlevered
firm ?

(1) A firm that uses debt only to finance
it's assets.

A firm that uses both debt and equity
to finance it’s assets.

firm that uses no debt and finances
it’s assets entirely by equity.

(4) None of the above

165. The currgn’tlgﬁo is 4.5 : 1 and liquid ratio
is 3:1. Stock is ¥ 3 3,00,000. What are the
Curthablhtles ?

1), 250,000
) %2,75,000

@/if 2,00,000

4) T1,75,000
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166. Eﬁﬁ%@wﬁﬁmmhmymﬁaaﬁ

166. Which one does not affect the choice of

BT §? capital structure ?

(1) % vaE frafy (1)  Cash flow position

) FRU-wHa Ieft ST @/Debt - Equity Ratio

-(3) ST T SATET SRRIGE \Q/De’bt Service Coverage Ratio

@) T g w5 e (4)  Cost of Equity

167. frefafes § @ S-madr &7 167. Which one is true ?

1) T TTHSHA @A @S W T (1) In case Memorandum Revaluation
sfEfEl ot demnd wyifig T T : account is opened, the assets and
T e fag A oifea g ¥ liabilities appear in the New Balance

Sheet at their revised va!};,es.

(2) WefrET BT TEieR ST S @e retiring partner may claim a
&1 Froer 78 89 @) feufy F st \_/ﬁwre in the profits of the firm even
Hafrafe & gverg off whrem 4 s  after his retirement if his accounts are
mﬁ%wammmm%n not settled.

3) wv wufeq ey aix AR T R (3)  Allaccumulated profits and reserves
F JAY B W @Y R w1 e are to be transferred to the Profitand
m H sfafta frw o £ Loss Ad]ustment Account on

,/adrrussmn of a of a new partner. y

(4) Y HIEHER H 39 SHTH I F (3" A dormant partner has to give public

%ﬁaﬁﬂmﬁmmﬁm%l nouceof}usremeni&" EEDE
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168. frferfes & & Fim-o wem 87
(1) oer ufteifd == &

@) Wﬁmmmaﬁmm
1 IR qeam st wem e
@-TEE % T s a1 w56 gy
W@ & oy o9 st €

) TR i e Wi vgh @y
Wﬁﬁmﬁqﬁr@—m%fm
TF FHM 99X TG % o o st
g

@) W@ ¥ qeue w1 svey w1 %
ST T % foru ey oy #t
T T R

AfuwAT (A) :

U Yo foon Srais % e MER w
mmﬁa%ﬁaﬁﬁfﬁmﬁwé@m%
SUTSH YR W enfia )

& (R) :

ﬁmmﬁawﬁfuﬁﬁﬁaﬁvfﬁmm
SHG & Ty fafy wae foremor fofirdii =)
FET SFFRON T 3o 2

W foea gfivg
1) (A) & 2 foFg (R) o #)

(@) (A) ¥R (R) T W ¥ frg (R), (A)
1 TEl =3 TE

G) (A) TE & fFg (R) wet 2

@ (A aﬂr(n)tﬂ#fas’r%aih(n) (A) =t
& e ¥

169.

168. Which one is false ?

(1) Depreciation is an amortised
expenditure.

(2) Reducing Balance Method of
Depreciation is followed to have a
uniform charge for depreciation and

Repairs and Maintenance togefher

Straight Line Method of f Depreciation
is followed to have a uniform charge
for depreciation and Repairs and
Maintenance together.

Providing depreciation in the

/(4),

accounts reduces the amount of
profits available for dividend.

169. Assertion (A):

Cash flow statement is based on cash basis
of accounting, while Funds flow statement
is based on accrual basis of accounting.

Reason (R) :

Cash flow statement is based on a narrower
concept of funds but Funds flow statement
is based on wider concept of funds.

Select the correct code :
(1)  (A)is correct but (R) is wrong

(2)  Both (A) and (R) are correct but (R)
is not the correct explanation of (A)

()  (A)is wrong but (R) is correct

Both (A) and (R) are correct and (R)
is the correct explanation of (A)
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170. ﬁsﬁ%ﬁuﬁw%fam%vﬁmmm%ﬁ

TSR &1 9= a1 R Freafafas § @ #9-
1 AfFHR STeTsy A g § 2

(1) ot wer a1 3us vl 2 vfem
T T 1 UG % ST H AHA FH
AR

) w9 gE wfaem % faged 81w

171.

(2) 99 AT YWY WEEEET T SR 99y
ST % SR R Ferifia fon s &

(3) 3uftsgg wamdi = Wt iR 9w AT
% " fruifea famn s €1

4) wET fex Iuierg ST S W
aTeTfed g €1

172. g0 SISR e 3 aea oy & gur #i
axaﬁx“m'c:aﬁvﬁmaa;”%:mamm‘f

170. Which of the following rights usually not
available to a partner consequent to the
dissolution of a firm ?

(1) Right to restrain any partner or his
representatives from the use of firm
name or property

(2) Right to return of premium on
premature winding up

(3) Right of equitable distribution of

S property

@‘I‘ﬁ to be consulted

171. Which one is true ?

(1) Standards are used for planning and
coordination purposes.

__Labour time standards are generally

set on the basis of motion and time
studies.

(3) Overhead standards are set like
' —~material and labour standards.

(4) Standard fixed overhead rate is based
on budgeted output.

472.7 A period of rapid market acceptance and

g

substantial profit improvement represents

frefra st &2 E which stage of “Product Life Cycle” ?
(1) R (1) Introduction
(2) aftveEmn Maturity
@) f=wm (e/ Growth- :
@4 w8 4) Declme
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173. T 2i991E &9 3 T 60,00,000 § U feefiatt

T G| A F SR R 2w 10 o
1 FEEEt H 1,00,000 feRetHTeR wrema s
ST ST qeF % 12,00,000 ¥ | =¥ 2015
| 2% 15,000 fereiritet =rems ¢ | = 2015 %

173. A transport company purchased a delivery

truck for ¥ 60,00,000. The company
estimates that the truck will be cfriven
1,00,000 km over it’s 10 years useful life.
The estimatea salvagé‘ﬁail-ﬁé 15{1_2&@,1100 \

foe Frefafaa 4 e vsfi % wRomrerey The truck was cTr“iven1 15,000 km in 2015.
Haifersr g9 2y ? Which method results in the highest
depreciation expenditure for 2015 ?
(1) =t e ggfa Wm down value method
@ < T STENY Double decline balance
3) et T vgfy (3) Strai-ght line method
4) =i TS = (4)  Sum of the years digits
174. AR =4 T 29,000 o1, sfm ey 174. Opening stock was % 29,000 : Closing stock
T 31,000 411 9%t =Y yaerfe was ¥ 31,000. Sales,amounted to
<3,00,000 9T | Hehe1 &Y AT W7 25 e ¥ 3,00,000. Gross profit was 25% on cost.
AT Y G ST 9 o ? : What was the Inventory Turnover Ratic ?
(1) =:7om (1) 6 times <
\ , . e = 0©
) smeTm 8times @af qo Eq .
(3 o (3) 7 times ¢l
4) g Ton 4) 5 times 9
175. ST G&1 i 20 wfewera & R o/t srqm | 17, Whenmarginofsafetyié@ nd P/ V ratio 3 0c®
609'%%%,??[%%3"3%@“: is 60%, the profit will be : @  ©
5 - ')/ E 3
1) 30% 1)  30% : 2.0
W o e
@ 22% @ 22% A Y/ﬁg ¢ 420
ot s g 2
(B) 33% M ot
@ 12% m /é/[)
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176. Frefefen 4 @ #-w w2

(1) ST WIS B A ¥ R w
fearsrom <fer s &

(2)  HTE F} T F 3 % favew B
% FETETEY 57 W & Faftre it 3
A 9T § wH ot

@) mﬁmﬁﬁ@ﬂmmw
%mwﬂar&ﬁw%mvﬁaﬁa
TR BT e

@) mﬁﬁw%mmﬁmﬁm
T T T S g1
oA
177. g7 % H 9§ frg
w9 F & et &2
1) =
(2 I i o
@) wrERR yfen
@) STw A I w5 T
173.‘mﬁmwﬂwvﬁwqﬁwﬁf@a\ﬁ’ﬁ
mwmmvﬂwemﬁwmmm%?
: (1N
@ SHTIT R 9% T Ty
o5t 2,
@ sie = e
gt uw,
- ©) o St a7 e e,
Hu |
e ey

176. Which one is true ?

13 re is the organisation chart |
Mgﬂ?cwm e division of task.

(2 ganisation structure by produc
divisions reduces coordinatio;

tween functions for rapid response
In functional structure, employe

identification with specialised group:
makes change difficul_t.

(4) A change in strategy requires the
culture of the enterprise to remain the
same. :

177. A mutual fund is to be setup in the form of
a:

{rﬂ/T rust ¥
J}/J oint Stock Company
(3) Partnership Firm
(4)  None of the above

o
178. The Earnings Per 5({3(% ) is calculated

by using the following formula :

Dividend _
@ No. of ordinary shares outstanding

PBT
2 No. of shares outstanding

DPS
©) Market Value Per Share

; PAT
4 No. of shares outstanding
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f 179. freifafea § 4 $r-wad 22 175. Which one is true ?

! (1) =R =i 1 s fafy w5 a8 (1) Purchase of stock-in-trade is an
- application of fund
(2) 9 HT SRR ey 139G § (27/ Payment of dividendiis__q__ggg__.gf
: funds - 3

:. ©®) ffy-var =1 qent et fify (8) ~Funds flow refers to change in
' T | 1 ' long-term funds

4) Rl ISt F e Fifyy w5 o B (4) Decrease in working capital is a use

of funds

- 180. 3fe fopdt srvgeff @ o WIHRY AEeE B ar 180. A candidate is likely to receive a more
SHH ST v s e B Fehar favourable evaluation if preceded by
® 3R 3 et ﬂﬁm‘iﬁm ATH mediocre applicants and a less favourable
& e TR FH HIHS qeAiwT e evaluation if preceded by strong applicants,

HFE B § 9 WH W 0 qa d) This phenomenon is known as :
STt & 2
(1) ITF srasiy L(l)/seﬁcﬁve Perception
() TR vEf R s (2) Stereotyping
(B) 9HEd yHE (3) Halo effect
@) Terlremare vy (4( Contrast effect
181. ™ feasia Toriifa a9 Bt & o - 181. Aneg/gfgss Véﬁncing strategy is one |
where : | ‘
@ STEq-Zhfereh i o1 weh s - (1) aportion of short-term funds is raised |
il | e S from long-term sources. i
2 Se-wfees fafy ﬂﬁ-ﬂ%ﬁ“@'ﬁﬁfﬁﬂaﬁ () long-term funds are raised from ‘J‘
St é‘l e long-term sources only. 1:
©) ~ahiferen e 1 e s steg-wfees (3( a portion of long-term funds is raised }
: Hdl & Seran s ) , from short-term sources. il
@) foriem fola wmopd 29 € @) Wciéions are spontaneous.
iy . f
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182. %Wﬁﬁz%wwwﬁamﬁ

:mﬁaf%ﬁaaﬁ@ﬂmwmmw
?

(1)

() Yo g

(3) wER@

@) S
183, e fomrey gfiu
1) @

() B I @
(@) 3mEM™ ufy
@) IFTwd

184. ﬁwf%rF@aﬁaﬁq—WW%?

(1)
(2)

®)

(4)

mﬁﬁwwﬁﬁ%ﬁﬁﬁ%a

ﬁm?ﬁ%aﬂamﬁafmaﬁﬁnam ;

T T

R R R p—

Bt €1

Wﬁwﬁaaﬁﬁwm%mﬁ
ST ST ¥

182. According to Mary Parker Follet which

of the following principles is important
achieving co-ordination ?

(1)  Continuity
(2)  Direct Contact

Reciprocity

ﬂ of the above

P

183. Identify the odd one out.

(2) - Petty cash book

Imprest

ﬁ(/Cash book
&

184. Which one is true ?

(Q/AH future costs are not relevant costs

(2) Difference in costs between

alternatives is termed as relevant cost

(3)  Past costs are significant for decision
making .

(4) Contribution margin is also known
as Net Income
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185. Weit-1 aﬂrqﬁ-rﬁﬁ@_m‘rgﬁhaﬁﬁq 185. Match items in List - I with those in

R wEl F2 gfw ) List - IT and choose the correct code -
-1 el - 11 List - I List - II
() I geiee (i) TR Fve (@) Top management (i) Technical
7 skill
(b) HezETiT FEE (ii) TS FeE (b) Middle (i) Human skill
management
(c) WETTHRHE FSH (iii) STHHTCOTERE (c)  Operational (iii) cOncept;aJ
e management _ skill
%e: Codes :
@ () () : @ () (o
M 6 @) () M @ @ )

@ O @) @ @ () @) @
G) @) @) @) | () _at" (i) ()
@ o @ @ : @m) @ @

186. “meita wfayf fafrra i (Jst) =7 e 186. The SEBI was constituted as a
& IR-wifafyes frem % w1 § frg o9 L non-statutory body in the year :

w2
| (1) 2000 ) | 2000
@ 1988 @
(3) 1987 ®3) 1987 ;
@) 1998 4 1998
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7187. freafafea ¥ @ sR-Trad &2
(1) sirehfirr i/ sveren Heentse Farst
guifad #I3 916 SFRFH § | TH

HadTHR R HieRl ge 1
() SFifwsE HE - s A wrE
eI I € |
() smyfdemat = wfF waifus 26 § w@
- oYl ST % WeT § wHFd
T T
@) STEEN ® Fg-TR e g
T} [ wrifa § wfteds =t smavasa
& gt | '

188. ‘st 3R R’ wiew F AR, winerm =
HFTIH H1 TewE  fau fFrafafes § 9@
R 3yifem &2
(1) ETT faversm
(2 = favermo
(@) wrFE favemor
@ o aef

189. fr=fafaa & = W@ €2
(1) Tonslt ferfmtor s < SroiTer = H 9
T =01 hl Fefvid ed € o fat ' oi
‘TR’ o =il % =g e B )

(2) e 2fén # ww T % e i HiwE
3 e T 3 T 7 g )

(3) = < &% T R W, 9 forwt
a@ﬁﬁmqﬁmh

@ ol e T v e frw
% SMHR F S B T |

187. Which one is true ?

(1)  One of the factors affecting industrial
and/or institutional buyers is
promotional and merchandising
support.

(2 Demégraphic factors are referred to

“secondary demand factors’.
ﬁ power of the supplier is greatest
when the supplier can integrate

forward.

(4) Change in the agewise composition
of population does not necessitate
change in strategy.

188. According to ‘Ghee and Thayer’ model for
identifying training needs, which of the
following is required ?

(1) Organization analysis
(2) Task analysis
(3) analysis

All of the above

189. Which one is true ?
ef)/R::eivables represent a stage in the
operating cycle of a manufacturing

firm which is located in between
‘sales” and ‘cash’ stages.

(2) Seasonal dating requires a firm’'s
customers to pay in the early part of
the season.

(3) Receivables do not help growth of
sales, other things remaining the
same.

(4)/ One of the ohjectives of financial
management is to increase the size of
the investments in receivables.
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190. ﬁﬂhﬁgﬂﬁﬁwmmmﬁﬁaﬁm%?

1) @ e
2 FadE = fafamio
@) = =1 fafimto
@) o v se

191. mﬁmﬁaﬁﬁﬁ:
(1) v & wfoem F 5fg @nf
(2) = ST & pfig gt ,
3) arqaﬁmaﬁ‘aﬁéwﬁﬁml
@ mwwmﬁmmn '

192. 1 G : g dve = 50,000, &= &
S TR = % 50,000, fawom deg whryfy
= %1,50,000, ¥R < 7 250,000, &7 ey
#fETat = ' 2,50,000, USRS 0
= 250,000 & @ e [USEIE i
T & @ s g 2

@ 2:1
@ 2:5
B 1:1
@ 3:1

190. Which one of the following belongs to
Pri industry ?

ining ore -
(2 Manufacturing of cement
()  Manufacture of steel

@ oil refining industry

191. Buying goods for cash would :

crease the 810ss profit percentage '
(2) increase the gurrent ratio
(3)  have no effect on current ratio

(4)  decrease the gross profit percentage

192. Given : Cash in hand = % 50,000, Cash at

bank = ¥ 50,0C0, Marketable securities
- ?\QQQQOADebtors,,=\.;2,§_05% other

current assets = Q,EQ_,T)OO, Cﬂf_‘FEQt
Liabilities = | 2,50,00{" \bsolute liquid
willbe: ™= - -

ratio w
Y. 2:1 he, e J
o ‘_
: v 00
B Gt

@ 3:1 g ) i3

e .

% %14 & fTT W78 / SPACE FOR ROUGH WORK

PKJ 17-1/Com




193. &R 7T = weftwifa Fromfea s s
SAefTeRH 1 HieT Y Hwr A

(1) R %1 g
) e

() wiftwR

@) TS @)

194, Freerfin ¥ & o S ey 3 i 2
1) mﬂaﬁﬁ%mﬁq@

(2 = % v
(3) R # efiwdt fiy
@) I 9IS H ggEE ’1@

195. < ¥ et siferm S w8 9w
Wﬁﬁmﬁqﬁa@aﬁﬁfﬂrww;
M S FIT ) ohell £ 2
(1) @fa =1 s1oerEs
(2 IR =@ =5t sradiEe
(3) o= w1 Wy

@) faao == =51 sroeree

193. The obligation of a subordinate to properh
perform the assigned duty is known as :

(1) Delegation of authority
(2)  Accountability

()  Authority

V(;esponsibﬂity

194. Which of the following is the drawback of
scientific management ?

(1) Increase of individual worker’s
initiative

(-A/Bxploitaﬁon of workers

(3) owering-up of workers -

(4)  Strengthening of Trade unions

Nl
195) When a company issues shares at a
premium, that share premium can be used

full or in part for :

e,

(1)  Writing-off Goodwill
riting-off the Preliminary expenses
- N _
\(/31/ Purchase of fiked assets

(4)  Writing-off advertisement expenses
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196. AE A RIS ¥ .
Tt Sme & forelt safam farsie =71 Wi s
Wﬁﬁﬁﬂuﬁmaﬁmﬁm@mﬁm‘
H B it erafy % SR 3 gRy W § &
TS YT Wl g ST g d
(1) & 3R s wies
) it iR < wiew
(3) W Hiew
yﬁﬁﬁaaugﬁrmm

197. ﬁvmamﬁ“m”ﬁﬁwﬁ—f@aﬁﬁ
FH-H1 viftrer T £ 2

(1) faurEw
(2) Aot

(@) wveRm
4) ifEm geTem

198. F=fafes & @ $-w1 wem &2

J;/?mﬂmam e T % o
TH 1w o

7)) ﬁaﬁaﬂmm‘ﬁwmﬁrﬂﬁaaﬁiﬁw
¥ I FY T o7 |

197.

&_ s -

HTER I?Qr:ogding to e EUEE LS HUmMAR

resoﬁrce accounting, an individual’s value
0 an organisation is determined by the
services he is expected to render to the
organisation during the period he is likely
to remain with the organisation in various
positions or service states. '

(1)  Lev and Schwartz Model

(2) Jaggi and Lau Model
Flamholtz Model

(4)  Morse Net Benefit Model

Which of the following is not involved in
Concentratlgn in marketing function ?

‘1/ D1v1dm§

[ Grachng
J/)/ Stormg

S
—

198. Which one is false ?

Liberalisation signalled the end of
licence - permit - quota raj.

(1)

@

Privatisation aimed at reducing the

& role of the public sector.

3) Ws@nmmm 3R Jaait eﬁﬁsation of the Indian industry
& HEer W wfrey wnre frg WM % has not taken place with respect to
qHA H T AT ) removal of restrictions on the

movement of goods and services.
T S STeferarcat § S e (4) A truly globalised economy implies
IR % & H o 9 Y S qreafia free movement of people across
A borders.
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fersreran, ware, Jfen FHeeH, TERR 34 i
Frgdn, 4 (@A S GAAT WA HLAT
frefafiea # 9 fra® smamr €2

199.

(1) ftefya ufw

@) Scies wiE
@) oo o

(@) eI v

frefafes & s-w fagr S w1 miEd
HFME?

200.

(1) e St

2
(@) e gy

@) A

-000-

199. Expertise, competence, role modeling,
ability to reward, caring and information
sharing are the bases of :

Referent powér

(1)

y : Coercive power

(3) Expert power
Q/Persuasive power

200. Which of the following is not a principle

governing insurance ?

(1) Causa Proxima

mﬁt
\)})/Utmost good faith

4) Indemnity

-00o0-
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froifatas Pl e a e
1. o e & fafie= o % oo feg o & swe avi aden

it # fapan &, o a1 WAl 6 SRR S vt e
dgdl

s wed % for fe o =w faeedl # | wel s % fa
OMR SW-T7 ¥ Y2 R Fae Tk 99 % & T e
=t/ aferatss 9 € W1 T aR I iR wT
AE I e TE S HeHaT |

heneft gftfea { i 39 ST 1 HIgN 7 S TE 3/ T
8 a7 Forgm 1 opmd | wtanefl STaAT ST Se-TA A
Frvifia wm ¥ sifaftea o= 7 fodl |
mmﬁw~ﬁmmmﬁ,ﬂ%m
oft yftfesrfe & (Fae wien Y s SH-T9 % Weha A

. gen § frman i frafy = o) 0 e giEw

& A ST | ;
e qfeaepT/ Sae-a g T e g Hehd = He
1 wienefl wd o0F @ suftafa-u § fod
OMR SR-3 & Fifed Tarl i T 79 97 | s
g oft e snegdt 7 B o T v H & g
o =1 @it =nfe) ‘ '
whenfidi @ vdw-wx § feu Flwger, e v ==
TG, TR A e, ST i ufe, TR, e
B, SeraRiTTeR ST A1 foRelt 3T WeT 1 Wi i A
W9 Y FER T €
TiraTee Wi, SaR HaR i (faw siw saen d off)
aiR o1 witetia aeqd W we /s § T R S
e T8 gET & e 7 8N W T e § s
AT 1 YA = S SR S foes Tl ®
gftd HriEwEr Fi S |
B ST e e, e B s yae-w faand |

10. ¥z srefters o Frivers =1 s srafa & fam = wdened

FG I A BIS |

iy 11. Frkw Frfters #1 9 SR- fou fam o afsd- W

R weR faru forn wdtanedt wien gfer/ s T w1 Afg
fopeht rdtemedt 3 gl R el - o T EEeR T R, 9 9w
T ST 3 S SO0 T Sl § TR 48 S W
1 Wl W ST | qdverelt STa Al e & S W
foromr - # fu T e W sEva |

12. Torife / EerateTa Afehersh o1 ST A § 1
> 13, e et/ 7 e & forg wlvemeft e e & Wit

foreti we faftrad g Frafiva €1 srfaa Tl 3 wof e
=1 Srren whe wean & Frei wd fafeel 3 srEr g

14, Forelt Trera  wiven e o STR-TH &1 HIE W e T

Exd

15, Tt wET=T B, wivamedt gt/ wa Bie | i Iwi-

ux Fritgres @t orava dig 31 wltgmedt IR Wiy 59
Tt qReERT ST B T HER £

READ THE FOLLOWING INSTRUCTIONS CAREFULLY:

L

10.

i

1%

13.

14.

15

The manner in which the different questions are to be
answered has been explained in the Test Booklet which
vou should read carefully before actually answering
the questions.

Out of the four alternatives for each question, only one
circle for the correct answer is to be darkened
completely with Black/Blue Ballpoint Pen on Side-2
of the OMR Answer Sheet. The answer once marked is
not liable to be changed.

The candidates should ensure that the Answer Sheet is
notfolded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere eise except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet Code or Number and Answer Sheet Code
or Number), another set will be provided.

The candidates will write the correct Test Booklet Code
and Number as given in the Test Booklet/ Answer Sheet
in the Attendance Sheet.

A machine will read the coded information in the OMR |

Answer Sheet. Hence, no information should be left
incomplete and it should not be different from the
information given in the Admit Card.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
as mentioned in the Admit Card.

Mobile phones, wireless communication devices (even
in switched off mode) and the other banned items
should not be brought in the Examination Halls/
Rooms. Failing to comply with this instruction, will be
considered as using unfair means in the examination
and action will be taken including cancellation of
examination.

Each candidate must show on demand his/her Admit
Card to the Invigilator.

No candidate, without special permission of the Centre
Superintendent or Invigilator, should leave his/her
seat.

The candidates should not leave the Examination Hall/
Room without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair
means.case. The candidates are also required to put
their left hand THUMB impression in the space
provided in the Attendance Sheet.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the Examining Body with regard to their
conduct in the Examination Hall/Room. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Examining Body.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the Hall/
Room. The candidates are allowed to take away this
Test Booklet with them.
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